(3000) :(3100) :(3120) :(3123) :(110) 1L
3000
1,997,171 [ 290,311 1,706,860 0]
3100
1,997,171 [ 290,311 1,706,860 0]
3120
1,997,171 [ 290,311 1,706,860 0]
3123
1,997,171 [ 290,311 1,706,860 0]
100
1,119,375 [ 19,188 1,100,187 0]
110
881,005 [ 19,188 861,817 0]
101
881,005
501,520 | 01
376,140
) 268,291
1,670,740 x5 x12 = 100,245
1,091,388 x8 x12 = 104,774
1,407,067 x3 x12 = 50,655
1,051,400 x1 x12 = 12,617
96,893
2,470,850 x2 x12 = 59,301




(3000) 1 (3100) 1 (3120) 1(3123) 1 (110) 1L
1,566,300 x2 x12 = 37,592
365,184,000 x3% = 10,956
125,380
376,140,000 x1/6 = 62,690
376,140,000 x1/6 = 62,690

126,847 | 02

13,680
30,000 x18 x12 = 6,480
20,000 x30 x12 = 7,200
4,928
46,500 x4 x4 = 744
261,450 x4 x4 = 4,184
19,680
25 130,000 x3 x12 = 4,680
20~25 110,000 x1 x12 = 1,320
15~20 80,000 x8 x12 = 7,680
10-~15 60,000 x5 x12 = 3,600
5~10 50,000 x4 x12 = 2,400




(3000) 1 (3100) 1 (3120) :(3123) 1 (110) 1L
6,960
30,000 x16 x12 5,760
20,000 x5 x12 1,200
20,034,100 x6%x12 14,425
2,785,100 x10%x12 3,343
14,880
70,000 x12 x12 10,080
80,000 x4 x12 3,840
40,000 x2 x12 960
6,475 x30  x21 x12 48,951
30,240 | 03
120,000 x21 x12 30,240
32,520 | 04
4~5 140,000 x2 x12 3,360
6~7 130,000 x15 x12 23,400
8~9 120,000 x4 x12 5,760
47,018 | 05




(3000)

:(3100) :(3120) :(3123) :(110) 1L
376,140,000 x1/12x150% 47,018
78,363 | 06
376,140,000 x1/12x250% 78,363
26,121 | 07
376,140,000 x1/12x1/24x20 26,121
38,376 | 10
G ) 38,376
[ 19,188 19,188 0 0]
120
238,370
201
125,050
125,050 | 01
56,050
7,000
2,000
@ ) 60,000
202
48,340




(3000) 1 (3100) 1 (3120) :(3123) - (120) 1L
48,340 | 01
43,340
5,000
203
7,230
3,000 | 01
3,000
630 | 02
30,000 x21 630
3,600 | 04
30 300,000 x12 3,600
204
56,700
6,000 | 01
400,000 x12 4,800
100,000 x1 x12 1,200
39,300 02
27,780




(3000) - (3100) - (3120) - (3123) - (120) 1T
6 155,000 x5 x12 9,300
7 140,000 x8 x12 13,440
8~9 105,000 x4 x12 5,040
11,520
“ ) 400,000 x1 x12 4,800
G ) 250,000 x1 x12 3,000
155,000 x2 x12 3,720
11,400 | 03
50,000 x19 x12 11,400
301
1,050
1,050 | 09
1,050
200
877,796 [ 271,123 606,673 0]
210
455,166 [ 271,123 184,043 0]
201
30,000
30,000 | 01




(3000) 1 (3100) 1 (3120) 1 (3123) 1 (210) [ 1
= 30,000
[ 15,000 15,000 0 0]
206
92,746 ( 7 ) = 92,746
[ 84,393 8,353 0 0]
301
55,200
55,200 | 11
(18,400 ) = 55,200
[ 33,120 22,080 0 0]
405
277,220
277,220 | 01
G 10 ) = 260,000
[ 130,000 130,000 0 0]
PDA(6 ) = 17,220
[ 8,610 8,610 0 0]
220
422,630
206
2,370 G ) = 750




(3000)

1 (3100)

1 (3120)

:(3123)

1 (220)

1L

(€

660

960

207

101,370

101,370

03

40,000
5,000
1,820
1,400
1,810
1,650
3,200

10,000
1,000

710
4,800
2,750

9,300




(3000) :(3100) :(3120) :(3123) :(220) 1L
6,930
1,000
10,000
401
145,000
145,000 | 01
145,000
405
173,890
173,890 | 01
€ 73,890
BSE G 90,000
@ ) 6,000
@ 4,000
1,997,171




